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	�	���	�ก	��	
�������������ก	������
	����
	���� ก!	��"��
���#-
��	%&�  ' �&# �����������' �&# �
�����(��"��)�	  �ก*�+ #"��	���&#�	���,"�ก���	
 �)--

.!�	��  
.(. 2552  
�#�	�#	��23�ก��-�������	
4� �"�5���6�#�  6.60-8.10  ก	��
	%99:	��
��	
4� �"�5���6�#� 328.00-1,551.33 %����<����+-+�"�<�+4��+�  "��&�5�4"�5���6�#� 30-32 "�(	
�<��<���  �#	�+�"�ก	�""ก<4�'��	�6�#������	
4� �"�5���6�#� 0.80-6.98 �4��4ก� �+�"�4+�        
%��+��-%��+��'�����	
4� �"�5���6�#� 0.00-0.13 �4��4ก� �+�"�4+�  9"��9+-9"�9"� �����	
4� �
"�5���6�#� 0.08-0.91 �4��4ก� �+�"�4+�  �"�������-%��+��'�����	
4� �"�5���6�#� 0.00-2.87 
�4��4ก� �+�"�4+�  ?"��?*��?#��"���
4� �"�5���6�#� 1.50-206.67 �4��4ก� �+�"�4+�  ���?"��?*�
���	���
	� ��&����
4� �"�5���6�#� 166.33-777.67 �4��4ก� �+�"�4+� 

 
%�'���	� �!�"#�����������ก������ 

 
1) '	ก����"�A	���B����&�C5��6��#6	DC�'	ก��B�������"�A	�%2� ��&�� 200 ��  

������"�A	����+"�ก� ��	'
	�#� 67 ��  ����	'	ก&��#��	��	6ก	� 24 ��  &��#��	�
�"ก6� 21 ��  ����A	� �ก	�(Fก!	 22 ��  
�#�	
	�	�4�+"�-��B�&�	����
	&� �� 6������	

��
	��B���	�'	ก�	?�	#  ��'
	�#� 11 
	�	�4�+"�-  %���ก�  �	�G�	# 6
,6  �#	�+�"�ก	�""ก<4�'�
�	�6�#����  %��+��-%��+��'�  �	�G�	( +�5
,6���� +#-ก����""�-ก	��9"��9+  �	�G�	( +�5
,6
���� +#-ก�����	�-�	��+  9"��9+-9"�9"� �  �"�������-%��+��'�  �#	��23�ก��-���  
?"��?*����	���
	  ?"��?*��?#��"�  ���ก	��
	%99:	  � ���ก	�  

 
WQI (Pad11)  =      0.097 (Her) + 0.097 (BOD) + 0.096 (NO3

-) + 0.095 (OP) +     
0.094 (Car) + 0.092 (PO4

3-) + 0.091 (NH3) +  0.088 (pH) +  
0.085 (TDS) + 0.084 (SS) + 0.081 (EC)   

 



 137 

 

�����#��&D���
,����Bก	�2�5ก?�	#� ก��ก	�����	������
,B"�
4B�C�C�4+  ����6��	�G�	
# 6
,6����	�G�	( +�5
,6���� +#-�
,B"2:"�ก �C�C�4+�ก4��#	�����&	�  ��ก	����	�� 6������	

��
	'F��#���
	�	�4�+"�-�&��	���2��ก"���#�  �+���,B"�'	กC���ก	�#4���	�&-����	
��
	����#�
?"��	�G�	# 6
,6  �	�G�	( +�5
,6���� +#-ก����""�-ก	��9"��9+  ����	�G�	( +�5
,6���� +#-
ก�����	�-�	��+  ����	��"��	ก'�%���	�	�A+�#'# �%�� (non-detection)  �������	��"�ก#�	 
0.001 �4��4ก� �+�"�4+�  �23��
�	��	��&��	�����,B"b��
����#��&D�'�+ก��	�"�5���+�ก"��4��+���
ก	�(Fก!	� ��#4���	�&-�b
	�����	
��
	%���#�AF�+�ก"��4�'F�+�#'
���2�4�	���"��	ก  ก	�
���	�� 6������	
��
	��B���	�'	ก�	?�	#'F�+ �
	�	�4�+"�-�&��	���""ก%2  � �� ��'F��&�,"

	�	�4�+"�-��B�
	�	�6����	�� 6������	
��
	'
	�#�  8 
	�	�4�+"�-  %���ก�  �#	�+�"�ก	�
""ก<4�'��	�6�#����  %��+��-%��+��'�  9"��9+-9"�9"� �  �"�������-%��+��'�  �#	��23�
ก��-���  ?"��?*����	���
	  ?"��?*��?#��"�  ���ก	��
	%99:	  � ���ก	� 

 
WQI (Pad8)  =     0.135 (BOD) + 0.135 (NO3

-) + 0.129 (PO4
3-) + 0.128 (NH3) +   

 0.123 (pH) + 0.119 (TDS) + 0.118 (SS) + 0.113 (EC)            
 
2)  �
,B" �&�%��� 6������	
��
 	��B ��'
	�#�
	�	�4 �+"�-<FB ��&�	���ก �
,����B  

2��&� ��#�	�����2���	���ก	�#4���	�&-  'F�+ �
	�	�4�+"�-��B����� ��#	��
	� D��B��"���B���
""ก%2+	��
	� ��
	�&�%��� 6������	
��
	'	ก'
	�#� 8 
	�	�4�+"�-  �23� 7  %2'�AF� 1 

	�	�4�+"�-  <FB���,B"�
	%2���"��#	��+ก+�	�ก �� 6������	
��
	'
	�#� 11 
	�	�4�+"�-  ���
ก	����"��#	��+ก+�	��	��A4+4  
�#�	��ก	�� 6������	
��
	��B���	�'	ก�	?�	#'
	�#� 3 

	�	�4�+"�-  ���#	��+ก+�	�"��	���� ��
	� D��B��� ��#	��6,B"� B���"��� 95  <FB�2��ก"���#�
�#	�+�"�ก	�""ก<4�'��	�6�#����     %��+��-%��+��'�  ���9"��9+-9"�9"� �  ������ 6��
����	
��
	��B���	�'	ก�	?�	#�," 

 
WQI (Pad3)  =     0.338 (BOD) + 0.338 (NO3

-) + 0.324 (PO4
3-)                              
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3) ������4B�2�5ก  
�#�	� 6������	
��
	��B���	�""ก'	ก�	?�	#��
,����B����ก	����
��
	����
	���� ก!	��"��
���#-��	%&�  ' �&# �����������' �&# �
�����(��"��)�	  �A	��   
&�"�2�4� 1 (SH 10) �������� 6������	
��
	+B
	������	ก � 54.48 �����  "�5������ � 2  
�	�	�A���	���
	���5��	���
	)���6	+4%���+��#��c:	��# �����	
��
	���&�����
	  
	�	�4�+"�-    
��B�23�C��&�����	
��
	��,B"�����  %���ก�  �#	�+�"�ก	�""ก<4�'��	�6�#����  ?"��?*��?#��"�  
����"�������-%��+��'�  ��,B"�'	ก��4�#�'���ก*�+ #"��	���
	?����	ก �ก!+�ก�%��%A�	���
2��"���
	�5���"� <FB���+�ก"��4�����(!<	ก
,6'
	�#��	ก%&����5��
	��"�  �A	��%ก����	 (SH 
04) �������� 6������	
��
	�5�������	ก � 71.82 �����  "�5������ ���B 1  �	�	�A���	���
	���5�
�	���
	)���6	+4%��   

 
4) �����+กก"  
�#�	� 6������	
��
	��B���	�""ก'	ก�	?�	#��
,����B����ก	�   

�����
	����
	���� ก!	��"��
���#-��	%&�  �A	��&�#�?�4�� (SH 12)  �������� 6������	
��
	
+B
	������	ก � 61.29 �����  "�5������ ���B 1  �	�	�A���	���
	���5��	���
	)���6	+4%��  

	�	�4�+"�-��B�23�C��&�����	
��
	��,B"�����  %���ก�  �"�������-%��+��'�  ��4�#�'���ก*�
+ #"��	���
	�� ���(!��%���"�����
	  6�#�����ก!+�ก�� ก���2�d��
	���+��?�	#�
	�&���2�4�	�
�"��������
4B�?F��  �A	����,"��ก�	 (SH 03) �������� 6������	
��
	�5�������	ก � 82.88 �����  
"�5������ ���B 1 �6������#ก �      

 
5) ����""ก�#�  
�#�	� 6������	
��
	��B���	�""ก'	ก�	?�	#��
,����B����ก	����

��
	����
	���� ก!	��"��
���#-��	%&�  �A	��%ก����	 (SH 04)  �������� 6������	
��
	+B
	���
���	ก � 45.86 �����  "�5������ � 3  �	�	�A���	���
	���5��	���
	)���6	+4%���+��#��c:	��# �
����	
��
	������	���
	���	���
	��2�4�	���"�  
	�	�4�+"�-��B�
	�&�����	
��
	��,B"�����  
%���ก�  �"�������-%��+��'�  ?"��?*��?#��"�  ����#	�+�"�ก	�""ก<4�'��	�6�#����  '���ก*�
+ #"��	���2�4�	���
	��"�  ��"�?�	�?��� ����
	���(!ก4B�%�������%���"�"�5�'
	�#��	ก  �A	��  
��,"��ก�	 (SH 03)  �������� 6������	
��
	�5�������	ก � 83.27 �����  "�5������ ���B 1  
�	�	�A���	���
	���5��	���
	)���6	+4%��   
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6) �����ก*��ก�B�#  
�#�	� 6������	
��
	��B���	�""ก'	ก�	?�	#��
,����B����ก	� 
�����
	����
	���� ก!	��"��
���#-��	%&�  �A	��%ก����	 (SH 04)  �������� 6������	
��
	+B
	���
���	ก � 51.79 �����  "�5������ � 2  �	�	�A���	���
	���5��	���
	)���6	+4%���+��#��c:	��# �
����	
��
	���&�����
	    
	�	�4�+"�-��B�23�C��&�����	
��
	��,B"�����  %���ก�  �"�������-
%��+��'�  ���?"��?*��?#��"�  ��
	��4�#�'���ก*�+ #"��	���# 6
,6�4�� ��	  �����
,6��
	���	
&�	���� ��
	��"�?�	�?���  �A	����,"��ก�	 (SH 03)  �������� 6������	
��
	�5�������	ก � 77.23 
�����  "�5������ ���B 1  �	�	�A���	���
	���5��	���
	)���6	+4%��   

 
7) � 6������	
��
	��B���	�'	ก�	?�	#��
,����B����ก	������
	����
	���� ก!	��"�

�
���#-��	%&�  ����b��B�� ��  4 �����
	�2�5ก
�#�	  ��,B"�6�� 6������	
��
	'
	�#� 11 

	�	�4�+"�-��������b��B����	ก � 77.01 �����  ����	
��
	"�5������ ���B 1  �	�	�A���	���
	
���5��	���
	)���6	+4%��  �����,B"�6�� 6������	
��
	'
	�#� 3 
	�	�4�+"�-��������b��B����	ก � 
69.64 �����  ����	
��
	"�5������ ���B 1 �6������#ก �  
	�	�4�+"�-��#��&D���B�
	�&�����	
��
	
�������+B
	  �,"  �#	�+�"�ก	�""ก<4�'��	�6�#����  ?"��?*��?#��"�  ����"�������-
%��+��'�  ��,B"�'	ก��ก	��
	�	+�"���ก	�%A�	  ���2�d��
,B"�
4B�C�C�4+  �
	�&���
	���	��"�?�	�
?��������ก	��',"'	�?"��	�"	&	�+�	�e ��B�ก!+�ก�����
,B"�
	����4����5��&�����
	 

   
���������� 

 
1) �	�	�A�6�� 6������	
��
	��B���	�'	ก�	?�	#'
	�#� 3 
	�	�4�+"�-��� 11


	�	�4�+"�-�
,B"6�#�2��&� ���2���	�����#�	��ก	�#4���	�&-����	
��
	��
,����B  � ��� �
")4�	��A	�ก	��-����	
��
	��B��ก	��2��B���2��%��"��	��#���*#  'F��	�	�A�
	%2�6��
,B"�+����
� �ก	��ก4�"��ก� ���
,����B%�� 

2) &	ก����2���	���ก	�' �ก	�&�,"#4���	�&-����	
��
	'
	�#��	ก  �	�	�A�
	
� 6������	
��
	��B���	�'	ก�	?�	#'
	�#� 11 
	�	�4�+"�-%2�6���
,����B%��  ���'��&�C���B���#	�
�6,B"� B��	ก�4B�?F�� 

3) ก��6�2���	�  ���"��-ก	���4&	���#���"�A4B�  �	�	�A�
	� 6������	
��
	��B
���	�'	ก�	?�	#%2�6���
,����B��ก	��c:	��# �����	
��
	  �
,B"%���&���
	���&�����
	)���6	+4�ก4�
�#	���,B"����� 


